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EQ4AW (plot by DAT)
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Days After Budding

EQ4AW TsN1 (plot by DAT)
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Days After Budding

EQ4AW TsN2 (plot by DAT)
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EQ4AW TsN3 (plot by DAT)
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EQ4AW TsN4 (plot by DAT)
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Days After Budding

EQ4AW TsN5 (plot by DAT)
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Days After Budding

EQ4AW TsN6 (plot by DAT)
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EQ4AW (plot by adjDAT)

4
I
I
L
L
-*
®
o T
P -0
oite Y,
lﬂ' /e X
I.n.ﬂ “_..* _I.*
_.on_._nlw - ..40
— _ |5
et T,
! _ -
e, T, e
% - “4 4_.0 i-e
<P - - L
° “m.ﬂ..hm M _.o_ ﬂ
“ Flﬂ Fl* r.* I‘_ 'Iﬂ
Eo o -
1 =] rl. -9
R A SR PR P
, be by T, T b
| F.* [Py I |‘_ “
|4 I I -¢ .4_ “
e T, et
...* _IO _|O _uﬂrllﬂ
IR
i SRR SR
ol geoe
T LT
e i | !
1 - -
ST e
-Q R
I Lo
~e L35
_|‘ Fﬂ_._%lll..
| “m
1 +
el
1!
1!
] v @
I
e o o o _“| IIIIIIII .-m..ll
I ©
1 ©
Lo e O
N TR

Buippng a1y sAeqg

80 100

60

Days After Transplant

40

20



Days After Budding

EQ4AW TsN1 (plot by adjDAT)

60 -

50 A

SN
o
1

w
o
1

N
o
1

10 A

Budding

e ket B T e e

¢ Fruit Set

Anthesis

st

10

20 30 40
Days After Transplant

50 60



Days After Budding

EQ4AW TsN2 (plot by adjDAT)
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Days After Budding

EQ4AW TsN3 (plot by adjDAT)
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EQ4AW TsN4 (plot by adjDAT)
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Days After Budding

EQ4AW TsN5 (plot by adjDAT)

]
I
I
50 :
I i o
: | i'_—? H
-1 arvept
: __“_.___I
40 I e
: I Turn Color
I -—@
1 |__"
I
I -
30 N 1 "—_*
I I
1 -—0@
| -6
1 i———.
20 A ! ——e
| -
1 |_"
et o)
10 - I !
: (mm < Fruit Set
I I
: | Anthesis
0 : [
I
: Budding
I T T T T T T T T
20 30 40 50 60 70 80 90

Days After Transplant



Days After Budding

EQ4AW TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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